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If a+b =8, ab= 12, then a° + b’ =?




ioi21o15SC 2023 ANINO)

A number n when divided @leaves a remainder 3. What will be the

remainder when /@ is divided by 6?
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The ratio of two numbers is 5 : 4 and their HCF is 4. What is their LCM?
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The side of an equilateral triangle is 12 cm. What is the radius of the circle
circumscribing this equilateral triangle?
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2. 6V3cm
5 43 cm
c. V3cm

d. 2V3 cem
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The ratio of expenditure to savings of a woman is 5:1. If her income and expendlture are
increased by 10% and 20%, respectively, then find the percentage change in her savings.
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Qn / @ @ ? “ 4 a. 50 % decrease
b. 100 % increase
\_s:‘/40/%decrease

d. 40% increase
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Rohan scored twice as many marks in English as he did in Science. His total marks in
English, Science and Mathematics are 126. If the ratio of his marks in English and
Mathematics is 2 : 3, his marks in English are:
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Three positive numbers are in the ratio of 4 : 5 : 7, and the sum of their

squares is 15,210. Find the sum of the three numbers.

GiC) WM% FTUTA ¥ &, 3R 37k M 6T AT 15,210 Bl
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(b) 156
@ (c) 126

(d) 208
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If the cost price is 72% of the selling price, then what is the percentage of

profit? (Correct to 2 decimal places)
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(¢) 32.25%

(d) 28.75%
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A person lent certain sum of money at the annual rate rcent on simple

interest. In 6 years the interest amounted to Rs.360 more than the sum lent. What is

the sum lent?

Ueh S Th HTERUT SIS WX 25 TTA9Te <At ATfieh 22 WX Ueh (e Tfst Sur 2ar 81 6 awi o
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S'cs/ "2 (o ( Elﬂ\ \>
S A :@ (a) Rs. 600
(b) Rs. 360

\'f) Rs. 720

(d) Rs. 540
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A 9 cm long perpendicular is drawn from the center of circle to a chord of

length 24 cm. The radius of the circle is.
I ok kg | 24 HHT et Teh a1 Ux 9 HHT ST e S ATt 21 T h e
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With an average speed of 45 km/h, a train reaches its destination on time. If it goes with

an average speed of 30 km/h, it is late by 15 minutes. The total journey is:

45 Torw/eieT sht STTEd TTTd & Tk YerTIST U Taed €T O HT W Ugadt g1 afs a8 30
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Q m (d)30.5 km
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The average of eight consecutive odd numbers is 48. Find the sum of the

fifth an\d/se%nth numbers.
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Which of the following numbers are divisible by 2, 3 and 5?
FeaferiRaa # & 9 o H&ATU 2, 3 3R 5 | faurs 82

1787500
A=) \\ (2)5467760
¥~

(b)1345678
(¢)2345760
(d)2456732
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If AABC ~ ADEF, and BC =4 cm, EF = 5 cm and the area of triangle ABC =80 cm2 ,
then the area of the triangle DEF is:

af AABC ~ ADEF, 3R BC = 4 9, EF = 5 91 3R 1< ABC 7 819her = 80 9w
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tepy
e
P et

) \3 (a) 169 cm?
= (b) 80 cm?

(¢) 144 cm?
(d) 125 cm?
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In a division sum, the divisor is 10 times the quotient and four ti the
remainder. What is the dividend if the remainder is 45?
Teh fOrITT o ST W 9TTeh WRTRT <Rt 10 AT 3R W9Wet T R 74T 71 Af

TIWRCT 45 AT WIS T BT SSC CGL 2022
( 20 \> (a) 4123
S (b) 3285
(c) 2895

(d) 5412
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The remainder when 19" + 20 is divided by 18, is:

19"+ 20 =T 18 & ferarTfre e WX Frahed &: SSC CGL 2022
( =) \> (a) 3
== (b) 2
(c) 1

do






